Monday 15th June
Solve these addition number sentences using both a number line and part part whole. Do you get the same answer both times?
5 + 7 =
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20



12 + 6 =
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20



9 + 11 =
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20



Verin makes some cakes for her friends. She makes 8 chocolate muffins and 6 fairy cakes. How many does she make altogether?
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20



Nathan planted 12 daffodils and 5 tulips in his garden, how many plants did he plant altogether?
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20



Alfie took 3 balloons to Henry’s house and Lucy took 8. How many balloons did Henry have?
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20



One of Sisi’s hens laid 4 eggs, another hen laid 15 eggs. How many eggs did Sisi have to give her mummy?
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
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